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3R�XNRĔF]HQLX�WHJR�NXUVX�VWXGHQW�QDEĊG]LH�
XPLHMĊWQRĞFL�SR]ZDODMąFH�VWZRU]\ü�SURJUDP�GOD�
VWHURZQLND�3/&�ED]XMąF�QD�VSHF\ILNDFML�
IXQNFMRQDOQHM�SURMHNWX�
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SU]HP\VáRZ\FK�

x 6WHURZQLN�&RQWURO/RJL[�
x 6WHURZQLN�&RPSDFW/RJL[�
x 6WHURZQLN�6RIW/RJL[�

6]NROHQLH WR�PD�QD�FHOX�SU]HND]DQLH�ZLHG]\�]�
]DNUHVX�VWHURZQLNyZ SURJUDPRZDOQ\FK��]�RIHUW\�
5RFNZHOO�$XWRPDWLRQ��RUD]�SRGVWDZ MĊ]\ND�
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x :SURZDG]HQLH
x %XGRZD�VSU]ĊWRZD�V\VWHPX�&RQWURO/RJL[���&RPSDFW/RJL[
x .RPXQLNDFMD�]H�VWHURZQLNLHP�Z�VLHFL�(WKHUQHW�,3�
x 6WXGLR������± ZSURZDG]HQLH�GR�ĞURGRZLVND�SURJUDPRZDQLD�
x 6WUXNWXUD�GDQ\FK
x 6WUXNWXUD�SURMHNWX
x ,QVWUXNFMH�$GG�2Q
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x 3RGVWDZRZH�LQVWUXNFMH�MĊ]\ND�/$'
x ,QVWUXNFMH�]HJDURZH�L OLF]QLNRZH�± RPyZLHQLH��]DGDQLD
x 'RNXPHQWRZDQLH�SURMHNWX
x :\V]XNLZDQLH�LQIRUPDFML
x )RUVRZDQLH�ZHMĞü�Z\MĞü
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x .RQILJXUDFMD�PRGXáyZ�DQDORJRZ\FK
x ,QVWUXNFMH�SRUyZQDĔ
x ,QVWXNFMH�PDWHPDW\F]QH
x ,QVWUXNFMH�NRQWUROL�SURJUDPX
x ,QVWUXNFMH�*69��669
x 2EVáXJD�EáĊGyZ
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